Subtracting Integers
Find the difference.

(-14) - (-39) = 27 - -89 =
(+44) - (+21) = 9-10 =
(+34) - (-58) = 35 --64 =
(+15) - (+99) = -34-30 =
(-62) - (+9) = 31-43=
(+48) - (+44) = 11--90 =
(-38) - (+42) = -26 - -74 =
(-23)-(-1)= 12-40 =
(+11) - (-77) = 85 - 44 =
(+22) - (+34) = -96 - -67 =
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Subtracting Integers

Find the difference.

(-14) - (-39) = 25 27 - -89 = 116
(+44) - (+21) = 23 9-10=-1
(+34) - (-58) = 92 35 - -64 = 99
(+15) - (+99) = -84 -34 -30=-64
(-62) - (+9) =-71 31-43=-12
(+48) - (+44) = 4 11 --90 = 101
(-38) - (+42) = -80 -26 - -74 = 48
(-23)-(-1)=-22 -12-40 = -52
(+11)-(-77) =388 85 - 44 = 41
(+22) - (+34) = -12 -96 - -67 = -29

Go to onlinemathlearning.com for more free math resources




